Semester Renew day 2 of 3

19(c) Find $f^{-1}(x)$.

$$
f\left(\frac{y}{x}\right)=4 x^{2}-7
$$

$$
x=4 y^{2}-7
$$

$$
\sqrt{\frac{x+7}{4}}=\sqrt{\frac{x y^{2}}{4}}
$$

$$
\pm \frac{\sqrt{x+7}}{2}=y=f^{-1}(x)
$$

1) Switch $x \forall y$
2) Solve for $y$


$$
\begin{aligned}
& \text { Linear } \\
& y=x \\
& \rightarrow \\
& y=|x| \\
& \pm \\
& y=[x]
\end{aligned}
$$

$$
\begin{aligned}
& y=\frac{1}{x^{2}} \overline{1 / 1} \\
& \underset{-\infty}{100}=1
\end{aligned}
$$



Rational Fumetons

$$
\frac{3}{4}-\frac{2}{3}
$$

$$
\begin{aligned}
& 22 / \text { a) *or } \div \text { Kemp chane-forp } \\
& \frac{3 c-c^{2}}{c^{2}-25} \div \frac{c^{2}-4 c+3}{c^{2}+4 c-5}
\end{aligned}
$$

(b) +or -

$$
\begin{aligned}
& \text { (b) }+O R-\text { Commons! } \\
& \frac{4 x}{x^{2}-4}-\frac{7}{x^{2}-3 x-10}
\end{aligned}
$$

$$
(x-5)^{2} x-\frac{7(x-2)}{2}
$$

$\frac{(x-5)^{2} 4 x}{(x-5) x+2)(x-2)}-\frac{7(x-2)}{(x-5)(x+2)\left(x^{2}\right)}$ and cancel

$$
4 x^{2}-20 x-7 x+14
$$

$$
(x+2)(x-5)(x-2)
$$

$$
4 x^{2}-27 x+14
$$

$$
(x+2)(x-5)(x-2)
$$




| 20 | $10+x$ | $\frac{20}{10+x}$ |
| :---: | :---: | :---: |
| 6 | $10-1$ | $6-x$ |

against
7 total trip was 7 hours.

$$
\frac{20}{10+x}+\frac{6}{10-x}=7
$$

$$
\begin{aligned}
& \begin{array}{l}
\text { \#23 Solve for } x . \\
\text { Has an } \overline{\mathrm{c}} \text { Sign mutiny by } \\
\text { cominton }
\end{array}
\end{aligned}
$$

$$
\begin{aligned}
& 3 x^{2}+x-15 x-5=3 x^{2}+12 x \\
& \begin{aligned}
-14 x-5 & =12 x \\
-5 & =26 x
\end{aligned} \\
& \begin{aligned}
& x-5=12 x \\
&-5=26 x \\
&-5=x \quad x=\text { speed } \\
& \text { of wind }
\end{aligned}
\end{aligned}
$$

LOGS!!!
Like Solva forx.

$$
\begin{array}{ll}
\sqrt{50 l v a} \text { forx. } \\
\sqrt[2]{5^{x}}=\left(\frac{1}{25}\right)^{2 x-1} & \begin{array}{c}
\text { Make common } \\
\text { bases. }
\end{array} \\
5^{\frac{x}{2}}=\left(\frac{1}{5^{2}}\right)^{2 x-1} & \log _{7} 49=\log _{7} 7^{2}=2 \\
5^{x / 2}=\left(5^{-2}\right)^{2 x-1} & \log _{2} \frac{1}{16}=\log _{2} \frac{1}{2^{2}}=\log _{9_{2}} 2^{-4} \\
5^{x / 2}=5^{-4 x+2} & \ln _{2} e^{153}=153 \\
2\left[\frac{x}{2}=-4 x+2\right] & \\
\begin{array}{ll}
x=-8 x+4 \\
9 x=4 \\
& =\frac{4}{9}
\end{array} &
\end{array}
$$

$$
\begin{aligned}
& \log _{b} n+\log _{b} n=\log _{b}(m \cdot n) / \quad \frac{\text { Sole for } x}{}(x+3)- \\
& \log _{b} m-\log _{b} n=\log _{b}\left(\frac{m}{n}\right) \quad \log _{7}(x+3)-\log _{7} x=2 \\
& \log _{b} m^{p}=p \log _{b} m \\
& \text { Exponential. } 7^{\log _{7}\left(\frac{x+3}{x}\right)}=7^{2} \\
& x \cdot \frac{x+3}{x}=49 \cdot x \\
& x+3=49 x \\
& \frac{3}{48}=\frac{48 x}{48} \\
& \frac{1}{16}=x
\end{aligned}
$$

